Department of School Education, Punjab Class X

NAS based Line Graph Comprehension 06.10.2021
The following line graph shows the production of vehicles by company X and Y
in different years. Study it carefully and answer the questions that follow:
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Q1. What is the production of vehicles of company Y in 2000?
a)1280 b)128 ¢)1,28,000 d)12800

Q2. What is the difference between the production of company Y and X in
the year 1997?

a) 200 b) 20,000 ¢)20 d)2000

Q3. In which year were the maximum number of vehicles produced by the
company X?

a) 2001 b)1999 €)1997 d)2002

Q4. What is the sum of production of vehicles produced by company X
and Y in 1998?

a) 2,19,000 b) 546000 c) 453001 d) 436200

QS. The company Y produced 50,000 more units than the company X in
the year

a) 1997 b) 2000 c) 1999 d) 2001

PREPARED BY: DIMPY KHURANA, ENGLISH MISTRESS, G.H.S., ALACHAUR, DIST. S.B.S. NAGAR
VETTED BY: KAVITA SABHARWAL, ENG. MISTRESS, G.S.S.S.S (BOYS), RAHON, DIST. S.B.S. NAGAR

—
@ PARHO PUNJAB PARHAO PUNJAB - ENGLISH (SCERT, PUNJAB)



